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�� ���� �� ������ ������'����

� °C; ∆T�,��0 – �����"��! ���������-

�� ���� �� ����� ������'����

� °C. 

(����������! ���
�
! 
����
����: 
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, 6. �. 8�
�
����

����. ��
. ������ �. (. �����

��
(
������ �������
���

 ���
������������ ��������� 
 ���
�������


, 	� �) 

<44
/���2���5 ���
2
 1����
�7
0�

<�
/����.��19���2�	 ����
�
22
�  

2� ��
9���	��	� �
/�����
22
� ��
�������

(��'���� �
����

 ���
��
���
�% ����#

 ������ ���� �
 �� ��-

���������� � ��!����
�� ����#� �
�� ���% ����#

. (���������"��


�+�&�!�! ��*��
��� ���
��
���
�% ����#

 
������" �������% ��

��
���+��
! ��
������ �������� ����
, ���+�&�% �� ���#� ��������


�����

�� ����#

. ����������

 ������������ �������� ����

��-

�����" � �'�����% �������% �����
. � ������ �����*������ ����-

��
!�
% ���������� 
 �')��� ���
��
���
�% ����#

, ���'���
��%

��! �'�������
! ������"��#� 
� ���
�
��
�����
!. B��������% ���-

��� ���
�������#

 �
������� ��
!�
� �� ��'����
����" ���
����
��%

�����
�

, ��� � 
��#� ����� 
 ����*��
� ���� �� ���, ��� !��!���!

����#����� ��! ������
!�
!. 8
����� ������ ����
�� � 
�+��� #�-

��� ������!��! ��� ���"*�, 
 ��
 �� ������!���!, ��#�� 
�
 ����� ��

����#
� �����!��� �����
��! � �����!�

 �����
���"��#� �����. (�-

����� ������
!�
! �� �
����

 ���
�������#

 !��!���! ��������%-

�� �
����"���
 ��! ��'�#� ������
!�
!. 

� ��*�% ������ �� ����!+��

 ���#
� ��� ������������"�� ���-

���
��! #�������������! ���
�

� � �'����
 ����#��'���+��
!. 2��-

�����
� ��
������ ������
!�
! �� �'���+��
� ���
�������#

 ��

�����*������ ������
!�
!� ��
���������� ����������. 

2����� ����
�
�����
 ��
 ������
���

 ����
���
�#� ������-

�
! ��C6 � ������% ��&������&
� ����% �� ��
������. ,'������-

�
� �
����
���
�% ����
�
�����
 ������
!�
! ���
������ �� �����-
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�� �
����

 ���
�������#

 
 ���
� �
��������
. 8�����
���
! ����

����
���
�#� �������
! ���
������� � ������% ��&������&
� ����%

(3*�) ��&����"� 25
�� �� ����#�����
�
���� ��
������ ���
 ��&-

����"� 16,5 
��. 

2����� ����#

W1 ��
 
����"�����

 ������������� ����%: 

W1 = P��� D n D t, 

#�� ���� – ���
���"��! ��&����" ������������� ����%, 
��; n − 
��
-

������ ����%, *�; t – ����! ��'��� ����% � #��, ���. 

W1 = 25 D 8 D 252 D 3 =151200
�� D ���

2����� ���
�������#

 ��
 
����"�����

 ����#�����
�
����

��
������ ����%: 

W2 = 16,5 D 8 D 252 D 3 = 100800
��D���

������! �
����
! ���
�������#

 @W ������
�: 

@W = 151200 − 100800 = 50400
��D���

���
����" ��
���������% ����#

 SW, ��'. 

SW = @W D S�� = 50400 D 0,23975 =12083 ��'. 

���
����" 1
��/��� ���
�������#

 ��#����� ���
��, �������-

������� 2�( «8
��
����#�» �
�
���� «4���#��'��» �������!��

0,23975 ��'/
��D��� ��! ������
!�
%. 

���
����" ��������
�����#� �'��������
!: S�� = 88206 ��'. 

���
 �
��������
: �� = S�� / Sw = 7,3 #���. 

2����� ����
�
�����
 ��
 �������

 ��������-��#��
�����#�

���
�����
���� ���������#� ��
� (B2() ��! ����
�!���� ����+���
!

�'������% ���� �� #���
��. (�
�����
� ��������-��#��
�����#�

���
�����
���� ��! ����
�!���� ����+���
! �'������% ���� �� #��-

�
��� ������
� ��#��
�����" ������ ����+�����#� ������� � ���
�
-

����
 �� ����������� �'������% ���� 
 ����������� ����+��#� ���-

����.  �
 
�
 ����+��! ����������� ������� � ������ ���� �
+� ����-

��%, ��!��!���! ���'���
����" ����"*��
! ���
����
���"����
 ���-

�
�!���� �� 50% �� ���
���"��%. 

$������
� �������� ���������� ��'��� ����
�!���� ��
 
���-

���

 �
�����
 ���&��
! ��'���#� 
����� («������� ����'
!») ����-

���!���! ������*��
!�
: 

P1/P2 = n13/n23, 

H1/H2 = n1/n2, 

Q1/Q2 = n1/n2, 

#�� n − �
��� �'������ ���� ��'���#� 
����� � �
�; P − ��&����", ��-

���'�!���! ����
�!�����, 
��; ! − �����, ����������% ����
�!��-

���,11a; Q − ���
����
���"����" ����
�!����, �3/�. 

$������� ������ ��! �������: ������ ������ − 138,88 �3/�; ���-

���
� − 150 (�; ��&����" ��
#����! − 30 
��. 
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(����'���
� ��&����
 ��
 ��������� ��#��
�����

 ��+�� ��-

�
���" ����+��
��: 

P	� = Pmax D ( Q / Qrnax) = 30D ( 69,44 / 138,88 ) = 30 D 0,5 = 15 
��

,������!�� ��������� �
����
� ���
�������#

 �� �������%

��������% 
������� ��'��� �'��������
! (�� #��) �� �������: 

W�
 = P	p D t D n, 
��D�/#��

#�� t − ����! ��'��� � ���

, ���; n − 
��
������ ���% ��'���. 

W�
= 15 D 12 D 275 = 45500 
��/�

(�
 ���
�� �� ���
�������#
� 0,23975��'/
��D��� ���
����" ��-


���������% ���
�������#

 ������
�: 

C
� = 45500 D 0,23975 = 10909��'

���
����" B24(, ��'. 

C	� = 18545��'. 

��! ���������
! ���
� �
��������
, � ����������"�� ����



�
����
���
�% ����
�
�����
 ��
�����
! B2( 
����"�����! �����-

��: S�� = C	� / C�� = 1,7 #���

2����� ����
�
�����
 ��
 ������ ������� �����
 ���� � ������-

�

 �������#����

 ���� �� ����#�����
�
����. � �����!&�� ����! �

�������

 �������#����

 ���� 
����"�����! ������ ��! �����
 ����

��
&����% �� ��+�� ���
�������� � ���
�����
#����!�
 ��&����"�

15 
 18 
��. (��
������ ������ ��&������&
� ������� �� ����#���-

��
�
���� ���

 WILLO � ���
�����
#����!�
 ��&����"� 5 
 7 
��. 

2����� �/����#

 ��
 ��'��� ��&������&
� �������. 

Wcy = 2��� D t D n, 
��D�, 

#�� 2��� – ���
���"��! ��&����" ������������� �������, 
��; t − 

����! ��'��� ������� � ���

; n – �
��� ���% � #���. 

Wcy = 33 
�� D 24 � D 312�� = 247104 
��D�

2����� ���
�������#

 ��
 ��'��� ������� ���

 WILLO: 

Ww = 12 
�� D 24 � D 312�� = 89961 
��D�

������! �
����
! ������
�: 

@W = Wcy – Ww = 247104 – 89961 = 157143 
��D�/#��

���
����" ��
���������% ���
�������#

 �� ��
� #��: 

�
� = 157143 D 0,23975 = 37675��'. 

���
����" ��������
�����#� �'��������
!: 

S�� = 33908 ��'

���
 �
��������
: �� = S�� / S
� = 0,9 #���

2����� ����
�
�����
 ������
���

 ���� ��#���� ����, ��
-

&����% � ���� � ������% ���
�
��!�
����#� ������ 
 ������'����

�

�� ����#�����
�
���� ������ � �������
���
�% �����
 ��������
��-

�!. � �����!&�� ����! ��
 ��#���� ��
&����% ���� � ���������
��-

�
�% ��
���
 ��! ���
�
��!�

 
����"�����! ����� ���

 C80-50-
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160� (������ − 50�3/���, ����� – 32�) � ��
#������ ��&����"� 15 


��. (�����#��� ������
�
�����" ���� ��#���� ��
&����% ���� � ��-

����% ��&������&�#� ������ �� ����#��'���#��&
% ���

 WILLO 

IPL 80 / 115 2,2 / 2 (������ − 50 �3/���, ����� − 10�) � ��
#������

��&����"� 2,2 
��.  �
+� ��+�� �����
�" ������'����

 �� ����#�-

����
�
���% �����
�����%, �������
�
�����" ������ ��������
���!

�� ������'����

 ��! ������+��
! ���'����#� ������������#� ��+
-

�� ��
&����% ���� � ���������
���

% ��
���
.  

2����� ���
����
��! 
����! 
� 313 ��'��
� ���% � #��� 
 
��#-

���������% �
��������

 ���� ���#����

 ��
&����% ���� (7356 ��-

'��
� ����� � #���). 2����"���� ������� ��
������ � ��'�
��. 
��+��*�  

:

�/�

��
�������
� �
����
��-

�
�#� ��
������!  

5�. 
��. ��&������-

&
% ���� ��-

#����  

8�����
�
��-

�����% ����

��#����  

1 

2 

3 

4 

5 

6 

(����'���
� �/����#

 ��

#��

 ��
� �� �/����#
�

���
����" �'��������
!  

���
����" �/����#

  

4
����
! �/����#

  

���
 �
��������
  


��D�

��'/���D�

��'


��D�/��'


��D�/#��

���

110340 

0,23975 

26454 

- 

- 

16183 

0,23975 

2257 

3880 

22574 

0,1 

(�
�������� ��*� ������� ��
�������, ��� ��
 ��������



��#��
���
����-����
���

� ������
!�
% �� ���
�������� ��+��

����
���"�� ��
���
�" �����'���
� ���
�������#

 ��
 ��'��"*��

���
� �
��������
. 

��� 621.314  

����. 8. 6. 5�
�����, $. ..  ��
���
�

����. ��
. ������ �. (. �����

��
 (
������ �������
���

 ���
������������ ��������� 
 ���
�������


, 	� �) 

2
/����

�
�����	��	 �� </�2����

<�
/���<2
�0�� 2� ���
:
2�
 ����
7�
22
�

�������9���

,���&��
� !��!���! ����% 
� �������� �����% ������� ���
��
-

���
�% ����#

 �� �����*������ ������
!�
!�. 2����� ���
�������-

#

 �� ����&��
� �����*������ ������
!�
% ���������� ������ 


�������!�� � ������� �� ������!� �����*�������
 5 – 30% 
� �'&�#�

�����'���
!. 4��
��
���
�� ����&��
�, ���!�� � ���#
�
 �����%����-

�
 ����
���
�#� ����&��
! ���
������������ ����&��
%, �������


��������� �����
! ��! ���
�����������#� �����. (������ ������


